
making everyday smoother
FITTING INSTRUCTIONS

• Increased comfort • Better driveability • More safety

VB-CoilSpring: 1700219110

making everyday smoothermaking everyday smoother

MERCEDES BENZ 
VITO/V-KLASSE 4-MATIC

W447
>2014



2 making everyday smoother

Document number

New version: Old version: -

Release date (yyyy-mm-dd): 2019-02-01

Page (new): Changes:

730170021933

V1.0

V 1.0

©2019, VB-Airsuspension B.V.

Alle rechten voorbehouden. Niets uit deze uitgaven mag worden verveelvoudigd en/of openbaar gemaakt door 
middel van druk, fotokopie, microfi lm of op welke andere wijze dan ook, zonder voorafgaande schriftelijke 
toestemming van VB-Airsuspension B.V. Dit geldt ook voor de bijbehorende tekeningen en schema’s.

Alle Rechte vorbehalten. Vervielfältigung und/oder Veröff entlichung durch Nachdruck, Fotokopie, Mikrofi lm oder 
auf jede andere Art – auch auszugsweise – ohne vorherige schriftliche Genehmigung von VB Airsuspension ist 
nicht zulässig. Dies gilt auch für die zugehörigen Zeichnungen und Pläne.

All rights reserved. No part of this publication may be reproduced, stored in a retrieval system, or transmitted in 
any form or by any means, electronic, mechanical, photocopying, recording or otherwise, without the publisher’s 
prior consent. That does also count for the schemes and drawings.

Reproduction interdite. Toute reproduction, tout enregistrement dans une base de données ou toute transmission 
sous toute forme ou par tout moyen : électronique, mécanique, photocopie, enregistrement ou autre, de tout ou 
partie de cette publication, est formellement interdit(e) sans l’autorisation préalable de VB-Airsuspension B.V. Ceci 
est aussi valable pour les dessins et les schémas.

Revision table



 3making everyday smoother

Color Description

Blauw Links voor

Rood Rechts voor

Blau Links vorne

Rot Rechts vorne

Blue Left front

Red Right front

Bleu Arrière devant

Rouge Arrière devant

L R

V 1.0

Montagetijd - Montagezeit - Fitting time - Temps de montage

3 Uur
3 Stunden
3 Hour
3 Heure

Kleurcodering - Farbecodierung - 
Colour coding - Codage couleur

Voertuig - Fahrzeug - Vehicle - Véhicule

Model / Modell / 
Model / Modèle

Typ(e)
Jaar / Jahr / 
year / Année

KG

Vito/V-Klasse W447 > 2014 
1100 kg (0% load) ±25 mm Vervangveer vooras

Austauschfeder Vorderachse
Replacement spring front axle
Ressort d’echange essieu avant1550 kg (100% load) ±30 mm

Nm

xx Nm

L R

Aandraaien /
losdraaien

Handvast
aandraaien

Aandraaien 
met moment Schoonmaken Hergebruiken Ok / niet Ok Links Rechts

Anziehen /
lockern

Handfest
anziehen

Anziehen mit 
Anzugsdrehmoment Säubern Wieder-

verwenden
In Ordnung / 

Nicht in Ordnung Links Rechts

Tightening /
loosen

Tighten 
hand-tight Tightening with torque Clean Reuse Ok / Not OK Left Right

Serrer /
relâcher

Serré à la 
main Couple de serrage Nettoyer Réutiliser Ok / Mauvais Gauche Droite

Symbolen - Symbole - Symbols - Symboles

Belangrijk!
Achtung!
Attention!
Attention!



4 making everyday smoother

Achtung: 
Kontrollieren Sie vor der Montage / Demontage zuerst die Werkstattanleitung des 

Fahrzeugherstellers! Befolgen Sie im Zweifel immer die Anweisungen vom Fahrzeug-
herstellers! Das richtige Anzugsdrehmoment finden Sie im Werkstatthandbuch!

Belangrijk: 
Controleer voor het monteren / demonteren de werkplaatshandleiding van de fabrikant. 

Bij twijfel volg altijd de werkwijze van de fabrikant van het voertuig!
Zie de werkplaatshandleiding voor het juiste aanhaalmoment! 

Attention: 
Please check, before mounting / disassemble, the workshop manual of the manufacturer. 

When in doubt always follow the instructions of the manufacturer! 
See the workshop manual for the correct tightening torque!

Attention:
Avant de commencer le montage / démontage vérifier le manuel d’atelier du fabricant. 

En cas de doute, suivez toujours les préconisations du constructeur du véhicule! 
Voir le manuel d’atelier du fabricant pour le couple de serrage correct!

V 1.0

Onderdelen - Teile - Parts - Pièces

Aantal /
Menge /

Qty. /
Nombre

Omschrijving / 
Beschreibung / 
Description / 

La Description 

Artikelnummer /
Artikelnummer /
Item number /

Référence

2 VB-CoilSpring 1702010381A

2 Flange nut M14* 1,5 10.9 0011114002DA

2 Flange nut M12* 1,5 10.9 0011112001SP

4 Flange nut M14* 1,5 10.9 0011114004SP

2 Flange bolt M14* 70*1,5 10.9 
Eccentric 0010714070SP

2 Flange bolt M14* 70*1,5 10.9 0010714070DA



 5making everyday smoother

2

1

1

2

2

2

2

3

3

4

4

5

1

V 1.0

Montage veer - Montage Feder - Mounting spring - Montage ressort



6 making everyday smoother

5

LR

2

3

4

V 1.0



 7making everyday smoother

5

6

V 1.0



8 making everyday smoother

00

3600

7

8

9

V 1.0



 9making everyday smoother

10

11

12

V 1.0



10 making everyday smoother

13

V 1.0



 11making everyday smoother

00

3600

V 1.0



12 making everyday smoother

14

V 1.0



 13making everyday smoother

2x M14

00

3600

Nm

V 1.0



14 making everyday smoother

15

16

4x M142x M14 x 70

2x M14 x 70
eccentric

Nm

V 1.0



 15making everyday smoother

00

3600

17

18

19

2x M12
Nm

V 1.0



16 making everyday smoother

20

22

21

23

Nm

Nm

V 1.0



 17making everyday smoother

5

3
4

1

2
2

1

23
45

24

V 1.0



18 making everyday smoother

25

26

ADAS
(Advanced driver-assistance systems)

27

V 1.0



 19making everyday smootherV 1.0



www.vbairsuspension.com

Dealer:

-ALL

*730170021933ALL*
730170021933

V1.0

VB-Airsuspension is producing, as one of the few European manufacturers, a very broad range of different (air)-

suspension systems. From reinforced coil springs, semi-air-suspension systems, up to complete full air-suspension systems, 

we provide solutions for customers with different vehicle types, like ambulances, minibuses, car transporters, motorhomes, 

etc. Now you can see why more and more commercial vehicle body manufacturers specify  VB-Airsuspension on their vehicles.


